
Useless 
machine

ZHONGSHAN BAJIA DAGU ELECTRONIC TECHNOLOGY CO.,LTD.
Tel：0760-22355466

www.bjdgrobot.com

©Baijiadagu.2018.11



Three L17 Double-pass 
Copper Pillars

M2.3x12 round head 
tapping screw 2

Side plate (a) 1 Side plate (b) 1 Motor Fixed 1

Cover (a) 1 Cover (b) 1 Two fingers

Main board 1

Two mesons in M2x6 
elf-attack band

M3x8 band meson 1 M3x8 Base Wire 3

M3x12 with medium 
screw 2

M3x25 Round Head 
Machine Wire 1

M3x30 Round 
Head Base Wire 2

M3x35 Round Head 
Machine Wire 1 M3 Nuts 5

Matters needing attention

Please read the instructions carefully and check whether 
the parts are missing before use.

List of all parts of this product :



Assembly steps:

Step 4:  Integration②

Step 3:  Integration①
Step 1: Motor part assembly

Step 2: Switch side plate fixed 



5 6

Step 5:  M 3x12 Fixed

Step 6:  Install Copper Column

After the motor is installed
the lock mother is
completely locked.

Step 8: Install motor fixed screw  

Step 7: Install motor fixing screw 1

2



2

7 8

Here the screw is rotated 
completely, and the nut is 
rotated to the side plate.

Step 10: Install the motor 

Step 9: Install motor  Step 11: Install motor 

Step 12: Fixed six-legged switch

1 3



9 10

Step 13: Battery box placement 

Step 14: Lock the cover plate

Step 15: Complete


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

